AT AR 2 BRI RS E RS

i

1 REE
1 ¥
X )
TN T 2 1A TN 6 5 2 [A]
1 5 B 2 2
(1) il E 1 1
(2) & # o E 0 0
(3) — # @ IE 1 1
(4) BE 1k 0 0
2 7 B 1 3
(1) — & = = 1 1
(2) & Bl = 3 0 1
(3) & % = 3 0 1
3 oM oHRES 4 (3) 7
2 7 (3) 12
2 RERALSS
{#: #
X )
BT ARG 2 (A N6 A 2 [H]
1 7K i 0 6
(1) il 0 3
(2) ¥ B 0 3
2 % 0 0
Bl 0 6
X () 1ZBHS A LAREICEAT T E




SRR T AR 2 [ HURET RS BB S R
(PRERERZIRL,)

CERUNE- - S S G =y
HOHHT 2258 5 DT Y72 B BRI B 2 RBIDOHIEIC SV T GREH307)

£
ZeF O E I LB A ED D,
i TH MO H

RBNHES % HIH
(1) fFmdefdt
I RGN EH S TR L b 2 EFEDFROEMEZ KD 5,
(2) wERE
%’%®%Pﬂt 20 NOAdn, FIERSUIMPEICERR B E 2 LTI faR
EIBE| L/Cb\éif%/m\k DD L&, MERR/NREOHEZHT 5 LN TE
LT LET D,

3 %E’

(3) PBEFREERE & s
BT oD el 2 A s 5 B 5B T DM OB C L e i 1 2 B5E T 5 Z L3 T
5L LT D,



2 @ R4 (—ERE)
BURETEu e B RSB O—EUIEIZ W T GERHF31S)
ATV AR D AT R G ARE ORE B 2T 5,

JEATH RO A

(1) FREITHRD e
BAERT « 3% THE OB T2 B S D & OREEEEDY 5 AL
ETtHoZ L

BERR - Hi% LHEICB T 2 W HOWEESS 5 NLL B2 2 &

(2) [Fl—FETOBEEIR RGBS D HlRZ mpEd 5,

Vs ="

ESEt
1 TEHEHAZRKN

KD GRS
DOFEFEIZHONT AKRAREFEETHE (7—1)) GERFE3IS)

r % 4

RRAFHEFEHLE (7—1)

T %= & A

AT R PP R I 46 3D

T %= #f 2

ARAEBS LAY A 7 VKGR D T

(1) FIARPEARE R L

H Ui L

[57] 5 S 5 1

P— B R fEEEE A L

EFR) IAKRAEYA 7 vt o X —DOFEEIR DB TH, R
a i Lo S Ok i 85—

2 e M

193, 380, 000

BHKIOFF

RN 2 BRI KPR LA 28 & oD 1
st e a—7 v 7
REFEESGER BN B2

2K o Ik

— B AL




2 THFADRKND

Fife 2 OWT (ARARFEE TFE (7—2))

IRRAFHHFEHTE (7—2)

ST KR8 [ VD YR HE P 46 8D

KRR =R 2 — KGR D TH
(1) HEm sk LT

(2) BRI T

(3) ¥— b A iakE S L

)

& A

160, 600, 000

EHKIOFEFJ7

BN BTN SRR BT RS [ M 147 10> 6
EAREERSR A ST
&R B FAA

Lo

%

— A AL

R - S S U

TN 6 AR EEAURE AOE S R

HIZRRIAR OISy

RIARI AR RIR B DTN T GREH35 )

06 AR FE R AT K B 55 2 S FT R AL 5 R 4% T8 4 42 344, 508,676 FH D 9 5
154, 782, 220 Z G ARG RN T\ D T T AN E AR L3255 2 THOHEIC
L VEESOEIERD D, B, BRIIBVETLO LT 5,

B5 i R AEKR
HTE BSRROZREIZDOWT GELRF 36 5)

RO &0 MNERIZRET D,

i AR (e 5E )

FRRTHT R A BT 48 2 13

TS | B OB 4 AN SR
& =t ( #  )
HRRTHT R A BT Rs 48 2 11

5189 | 41 189 54




